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m Use slope to describe a line

The line RISES from left to right when the slope is
The line FALLS from left to right when the slope is
The line is HORIZONTAL when the slope is .
The line is VERTICAL when the slope is _

Al (1,1), (3, -5) B] (2,4), (2,9) Cl(-5,2), (5,2)

Where's the slope? I ﬁ, D] 2(3 - y) =4-12x E] 2x-3y=-15 F15-3y=2y-15
Where's the slope?

Rise over run.

Rise over run.

Difference of the y's
Over difference of the x's
Simplify.

That's the slope.

S7'¢1y] ][} Slope as rate of change
You started driving at 10 am with 2,500 miles on
the odometer. When you stopped to get gas at 3
pm the odometer read 2,810 miles. What was your
average speed (in mph) while you were driving?




